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1.Write your roll No. on top immediately on receipt of the question paper. ttemp! r,l)’ f; and
2.Answer any five questions. All questions arc divided into scction A and B er questlon arks
questions out of 7 questions from each of the sections. Scetion A has short anSW arricS ‘[O m
cach carries S marks whereas scction B contains long answer questions and €8¢ uld be used
3.Answer may be written cither in English or in Hindi, but the same medjum S0
throughout the paper.
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Q.1What is business cycle? How does the unemployment rate behave over the course

business cycle?
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Q.2 How is private saving in an economy put to use?
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ry investment zero? Explain with the help of graph.

Q.3 When does unintended.invento
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Q.4 The size of multiplier varies directly with the size of the marginal propensity to

consume. Do you agree with this statement?
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Q.6 explain the components of the monetary aggregates.
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p between bond price and the interest rate?

Q.7 What is the relationshi
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T Section-B(wis 4)
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'l,{\'):-'-] What arc the '”",J? -,,,“".L,,'."L‘leon1ic issucs? Explain.
Lt anfl@ B0 g

. e compPOnente , , ) )
0.2 list the four cmmll’(”l .ls of tota) spending, Why are imports subtracted when GDP is
calculated in the C{fl’,m .U_‘;"f approach?
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0.3 Let 1=RS.80, (,','='5(J"’ 0.80y
I. Find the equilibrium outpuf
2. Find cquilibrium outpyy when there is 20 rupees increasc in autonomous investment.

3. Establish the multiplicy o, t T, di
a7 dfere 1=RS.80, C=50+0.8¢y ctof the 20 rupces increase in autonomous spending.
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Q.4 Explain the concept of multiplier in (he resence of income taxes.
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Q.5 An increase in m:argina} Propensity to import reduces the equilibrium level of income in
an open economy while an increase in autonomous export increases the equilibrium income.
Explain with the help of graph,
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Q.6 Explain why the §aving curve slopes upward and the investment curve slopes
downward in the saving-investment diagram. Give two examples of the changes that would

shift the saving curve to the right.
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Q.7 (i) What are the motives for holding money.
(ii) Explain the concept of money multiplier.
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